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SECTION-A (20 Marks)
Answer ALL questions
ALL questions carry EQUAL marks (10x2=20)

: : :
Prove that the series 1+ — - +—+-—+... is convergent.

35 i3
State the Cauchy’s condensation test.
State the Raabe’s test.

Show that the series E“’; :

n +nx
Form a rational cubic equation which shall have for reots 1,3- w/:—
Define reciprocal equation.
tan B +secH6-—1
tan®—secO+1
Prove that cosh’x-+sinh’*x=cosh2x.
Find Log(iy). =
Find the sum of the series cosec@+cosec20+cosec2?0+...+cosec2™0.

is uniformly convergent for all values of x.

Find limg_,g

SECTION - B (25 Marks)
Answer ALL Questions
ALL Questions Carry EQUAL Marks (5 x 5 =25)

Ifutuyt... is convergeﬂt and has the sum S, then prove that ku;+kuy+... is
convergent and has the sum kS.
OR

Find whether the series in which u, =(n”+1)/3 —nis convergent or
divergent. ; ’

=1 = . . 0 j i 2 n
Examine the convergency of the series 3 (—-—ﬁ) .

Xy S "

OR

(n +1)(n +2)....n+n)

nn

' 1 1 3
Show that if a,b,c are real the roots of - ! + + — arereal.
Xx+a x+b x+ c X
OR

If oc,B,y,S are the roots of the equation x Hpx+qxP+rx+s=0, find (i) T o’
| (11)Zoc By (111))3a B?and (1v)2a B.
Express cos86 interms of sin6.

: OR
: Separate into real and imaginary parts tan’ (x+y).

Examine the convergence the series
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, where m and n are integers.

OR

Show that log;i=—2*1
- dmi]

0 . 3.0 0
3 —+3sm3 '—+32 sm3 —+...to n terms.
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SECTION - C (30 Marks)
Answer any THREE Questions
' ALL Questions Carry EQUAL Marks (3 x 10 = 30)

It 0 = asaias ~and an>0, show that the sequence {ay,;} and {a;,}

Sum the series sin

- are both monotonic, one increasing and the other decreasing and the

: : =k
sequence {a,} tends to (a1a22 }/3

2% 32 2= A8 54X4
Test for convergency and divergency the series 1+= =t 5
Solve the equation 6x°-x"-43x>+43x’+x-6=0.

Expand sin°0 cos’0 in a series of multiples of 0.
A 2
Find the sum to infinity of the series sino.+¢ sin(a +B) + Ez—sin(a +2B) +....

when [c[<1. :
7-7-Z : END .



